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The Merciful one said, one book, but not two or three books

OVERVIEW

x99 27 queried what the ruling would be if the husband wanted to retain for himself
the blank parts of the 03 (which surround the words). The X773 asked that it should
be 709 since the 77N writes M1 190 indicating that it must be one 990. Our
mooIn discusses whether and to what extent the 7w27 of X 790 applies to v.

mooIn responds to an anticipated difficulty:
— 105934 N7P90Y 990 1939 YWT (3,80 9m JIPIT 2) DY ON

Even though that later the 3129 interpret the word =29 that it is a telling of

words (but not necessarily a 190 — book) so how do we exclude 0150 31 "2 -
—*NonT nuat 77 9133 1PV DD Yo

Nevertheless, we can also interpret it according to the interpretation here that
it is limited to only one 790.

nvoIn asks:
—®un 97292029 VXN NYPN Y (3,19 97 mpy) NINA P92 1295V 351 9NN ON)

And if you will say; how do we validate, in the last 99, where he left out part

of the vy and wrote it on a second page -
— 0990 NYWIYI DY XD XINNT R THNX 990 DIVN 1297 %va YUY )Y M

We should invalidate it when it is written on two 3°97 because the 190 states

one "5% and not two or three 2595%. Mmooin proves that writing on two 007 is considered a
violation of 121 X317 MK 'R 790 -
— 95919 N3N MMIN 1NN 190 NIV 1997 23V NAN 1, 91 NOIDT /2 9993 *)3v9nNTs

As X211 states in the second p=2 of 700 ndon, if he wrote the 70 N2 ) on two
1957 it is T2 because RI#mm MR TR 798, etc. Why by v is it w> on two 17977

Mo0IN answers:
— MIPHN NV Y9N NOVIVT 097 VYT PN 13929 9N

" The phrase (X,73 [X¥n] 2°727) NIN°13 190 means ‘a tale of MnN*12’°, he should write that he is divorcing her.
2 See 7"mn who sates: M0 ' '2 K XIAM MK NAX 77900 w17 2'"»; one tale but not many tales. See “Thinking it
over’ # 1.
? The beginning of the v was written on one page and the remainder on another page.
* See “Thinking it over’ # 2.
5 Regarding 7v10 n°» the 70 writes (33,77 [Rw1] 72722) that 131 1902 17797 7287 MPRT DR 200,
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And the >''1 answered that the two 2597 by v is where the two 097 were two
separate pieces therefore it is 2109 because it is not 71X 790 -

1D YA TN 9992 999N 19PY)
However later regarding 07 n¥pn 7w we are discussing where it was on one
parchment but on two columns; this is considered X 790.

SUMMARY
The exclusion of 7nX 190 is even according to the 13127 who maintain 2°727 n7°507
XnX7 X177. The 909 is only if it is on separate pages but not on separate columns.

THINKING IT OVER
1. According to the °(3";°17) 1127, the X713 should have said X1 Xm0 K NAX 77700
o0 "N "2l

2. Why was it necessary for 2o to cite the X113 in 7v0?° It seems like a valid
question from our X713 of 2°190 "1 '2 X1 71K 90!°

% See footnote # 2.
7 See on nx >
¥ See footnote # 3.
? See 1"nk # 184-5.
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